

Generalized Lerch formulas

Yoshinori Mizuno (水野 義紀)

March 15, 2005

Osaka University (大阪大学理学研究科数学専攻D3)

1 Generalized Lerch's formulas

The zeta-regularized product of a countable sequence $\{\lambda_k\} \subset \mathbf{C} \setminus \{0\}$ is defined by

$$\widehat{\prod}_k \lambda_k = \exp \left(-\frac{\partial}{\partial s} \sum_k \lambda_k^{-s} \Big|_{s=0} \right),$$

provided that $\Lambda(s) = \sum_k \lambda_k^{-s}$ is continued holomorphically at $s = 0$. Here the branch is chosen so that $-\pi < \arg(\lambda_k) \leq \pi$.

There are several interesting formulas which can be formulated in terms of zeta-regularized products. Typical examples are Lerch's formula

$$\widehat{\prod}_{n=0}^{\infty} (n+x) = \frac{\sqrt{2\pi}}{\Gamma(x)} \tag{1}$$

and Kronecker's limit formula

$$\widehat{\prod}_{(c,d)=1} \frac{|cz+d|}{\sqrt{y}} = (y^6 |\Delta(z)|)^{-\frac{1}{6}}. \tag{2}$$

Here $\Gamma(x)$ is Euler's gamma function and $\Delta(z) = e^{2\pi iz} \prod_{n=1}^{\infty} (1 - e^{2\pi inz})^{24}$ is Ramanujan's delta function.

In this paper, we generalize Lerch's formula.

Theorem 1 For $z_j \in \mathbf{C} \setminus \{0, -1, -2, \dots\}$, we have

$$\widehat{\prod}_{m=0}^{\infty} \left(\prod_{j=1}^n (m + z_j) \right) = \frac{(\sqrt{2\pi})^n}{\prod_{j=1}^n \Gamma(z_j)} = \prod_{j=1}^n \left(\widehat{\prod}_{m=0}^{\infty} (m + z_j) \right).$$

As a part of Theorem 1, we can obtain the formula of Lerch, Kurokawa and Wakayama.

Corollary 1 (Lerch)

$$\widehat{\prod}_{n=0}^{\infty} ((n+x)^2 + y^2) = \frac{2\pi}{\Gamma(x+iy)\Gamma(x-iy)}.$$

Corollary 2 (Kurokawa and Wakayama [5])

$$\widehat{\prod}_{n=0}^{\infty} ((n+x)^m - y^m) = \frac{(\sqrt{2\pi})^m}{\prod_{\zeta^m=1} \Gamma(x-\zeta y)}.$$

We would like to mention that our motivation of generalizing Lerch's formula is how $\widehat{\prod}_n (a_n \cdot b_n)$ is connected with $\widehat{\prod}_n a_n \cdot \widehat{\prod}_n b_n$.

Suppose that a_n and b_n depend on some parameters X . In many examples, we know

$$\widehat{\prod}_n (a_n \cdot b_n) = e^{F(X)} \widehat{\prod}_n a_n \cdot \widehat{\prod}_n b_n \quad (3)$$

with some $F(X)$. An interesting question is to understand $F(X)$.

Theorem 1 is an example of the case where $F(X)$ vanishes in (3). In fact we have

Corollary 3 For monic polynomials $P_j(x)$ such that $P_j(m) \neq 0$ for any $m \in \{0\} \cup \mathbf{N}$, one has

$$\widehat{\prod}_{m=0}^{\infty} \left(\prod_{j=1}^n P_j(m) \right) = \prod_{j=1}^n \left(\widehat{\prod}_{m=0}^{\infty} P_j(m) \right).$$

Corollary 3 is remarkable because it is saying that $F(X) = 0$ in (3), which does not hold in general at all. We can see examples for $F(X) \neq 0$ in Corollary 4 which will be given in Section 2 and Lemma 1 of [8].

2 Two dimensional analogue and q -analogue

There are two dimensional analogue and q -analogue of Euler's gamma function, so called Barnes' double gamma functions and Jackson's q -gamma functions (see [1], [7]). Hence it is natural to seek two dimensional analogue and q -analogue of Theorem 1.

Barnes' double gamma function $\Gamma_2^*(z, (\omega_1, \omega_2))$ is defined by

$$\log \Gamma_2^*(z, (\omega_1, \omega_2)) = \frac{\partial}{\partial s} \sum_{m,l=0}^{\infty} (m\omega_1 + l\omega_2 + z)^{-s} \Big|_{s=0},$$

$$\Gamma_2^*(z, (\omega_1, \omega_2))^{-1} = \widehat{\prod}_{m,l=0}^{\infty} (m\omega_1 + l\omega_2 + z).$$

We get a two dimensional analogue of Theorem 1 by using the following result.

Theorem 2 Assume that $q_j, \tau_j, z_j \in \mathbf{C}$ satisfy that $\Re(q_j) > 0, \Re(\tau_j) > 0, \Re(z_j) > 0$, and $q_j \neq q_k, \tau_j \neq \tau_k, q_j \tau_k \neq q_k \tau_j$ for $j \neq k$. The function of s defined by

$$H_2(s) = \sum_{m,l=0}^{\infty} \prod_{j=1}^n (mq_j + l\tau_j + z_j)^{-s}$$

is continued meromorphically to all s -plane. $H_2(s)$ is holomorphic at $s = 0$ and we have the following formula for $\frac{\partial}{\partial s} H_2(s) \Big|_{s=0}$,

$$\begin{aligned} \frac{\partial}{\partial s} H_2(s) \Big|_{s=0} &= \sum_{j=1}^n \log \Gamma_2^*(z_j, (q_j, \tau_j)) \\ &+ \frac{1}{2n} \sum_{1 \leq j < k \leq n} \left\{ \frac{q_j \tau_k - \tau_j q_k}{q_j q_k} (\log q_k - \log q_j) B_2 \left(\frac{q_j z_k - q_k z_j}{q_j \tau_k - \tau_j q_k} \right) \right. \\ &\left. + \frac{q_k \tau_j - \tau_k q_j}{\tau_j \tau_k} (\log \tau_k - \log \tau_j) B_2 \left(\frac{\tau_j z_k - \tau_k z_j}{\tau_j q_k - q_j \tau_k} \right) \right\}. \end{aligned}$$

Here $B_2(x) = x^2 - x + 1/6$ is the second Bernoulli polynomial. We choose the principal branch for $\log q_i, \log \tau_i$.

This is a generalization of Shintani's result (see [12]). He treated the case $n = 2$ to give a new proof of Kronecker's limit formula (2).

We remark that in order to conclude

$$\exp\left(-\frac{\partial}{\partial s}H_2(s)\Big|_{s=0}\right) = \widehat{\prod}_{m,l=0}^{\infty}\left(\prod_{j=1}^n(mq_j + l\tau_j + z_j)\right),$$

the equation

$$\left\{\prod_{j=1}^n(mq_j + l\tau_j + z_j)\right\}^s = \prod_{j=1}^n(mq_j + l\tau_j + z_j)^s \quad (4)$$

must hold for any $m, l \in \mathbf{N} \cup \{0\}$. We take this remark into account to give a two dimensional analogue of Theorem 1. As an example of q_j, τ_j, z_j which satisfy the equation (4) for any $m, l \in \mathbf{N} \cup \{0\}$, we can take $n = 2h, q_j, \tau_j, z_j \in \mathbf{C}, q_{h+j} = \overline{q_j}, \tau_{h+j} = \overline{\tau_j}, z_{h+j} = \overline{z_j}, j = 1, \dots, h$.

Corollary 4 Fix $q_j, \tau_j, z_j \in \mathbf{C}$ such that $\Re(q_j) > 0, \Re(\tau_j) > 0, \Re(z_j) > 0$, and $q_j \neq q_k, \tau_j \neq \tau_k, q_j\tau_k \neq q_k\tau_j$ for $j \neq k$. Suppose that (4) is satisfied for any $m, l \in \mathbf{N} \cup \{0\}$. Then we have

$$\begin{aligned} \widehat{\prod}_{m,l=0}^{\infty}\left(\prod_{j=1}^n(mq_j + l\tau_j + z_j)\right) &= e^F \prod_{j=1}^n \Gamma_2^*(z_j, (q_j, \tau_j))^{-1} \\ &= e^F \prod_{j=1}^n \left(\widehat{\prod}_{m,l=0}^{\infty}(mq_j + l\tau_j + z_j)\right), \end{aligned}$$

where

$$\begin{aligned} F &= -\frac{1}{2n} \sum_{1 \leq j < k \leq n} \left\{ \frac{q_j\tau_k - \tau_jq_k}{q_jq_k} (\log q_k - \log q_j) B_2\left(\frac{q_jz_k - q_kz_j}{q_j\tau_k - \tau_jq_k}\right) \right. \\ &\quad \left. + \frac{q_k\tau_j - \tau_kq_j}{\tau_j\tau_k} (\log \tau_k - \log \tau_j) B_2\left(\frac{\tau_jz_k - \tau_kz_j}{\tau_jq_k - q_j\tau_k}\right) \right\}. \end{aligned}$$

Next we present q -analogue of Theorem 1. Usually the zeta-regularized product is defined for a sequence $\{\lambda_k\} \subset \mathbf{C} \setminus \{0\}$ such that $\Lambda(s) = \sum_k \lambda_k^{-s}$ can be continued holomorphically at $s = 0$. In case $\Lambda(s)$ is meromorphic at

$s = 0$, Kurokawa and Wakayama [6] define the generalized zeta regularization by

$$\widehat{\prod}_k \lambda_k = \exp \left(- \operatorname{Res}_{s=0} \frac{\Lambda(s)}{s^2} \right).$$

They obtained several examples of such product, one of which is the following q -analogue of Lerch's formula.

Theorem 3 (Kurokawa and Wakayama [6]) For $q > 1, x > 0$,

$$\widehat{\prod}_{n=0}^{\infty} [n+x]_q = \frac{C_q}{\Gamma_q(x)}.$$

Here $[x]_q = \frac{q^x - 1}{q - 1}$ is the q -analogue of number x ,

$$\Gamma_q(x) = \frac{\prod_{n=1}^{\infty} (1 - q^{-n})}{\prod_{n=0}^{\infty} (1 - q^{-(x+n)})} (q - 1)^{1-x} q^{\frac{x(x-1)}{2}}$$

is Jackson's q -gamma function,

$$C_q = \widehat{\prod}_{n=1}^{\infty} [n]_q = q^{-\frac{1}{12}} (q - 1)^{\frac{1}{2} - \frac{\log(q-1)}{2 \log q}} \prod_{n=1}^{\infty} (1 - q^{-n}).$$

We obtain the next result which is the q -analogue of Theorem 1 including the above Theorem 3.

Theorem 4 For $q > 1, z_j > 1$, we have

$$\begin{aligned} \widehat{\prod}_{m=0}^{\infty} \left(\prod_{j=1}^n [m+z_j]_q \right) &= \frac{C_q^n}{\prod_{j=1}^n \Gamma_q(z_j)} q^{-\frac{1}{2n} (\sum_{j=1}^n z_j)^2 + \frac{1}{2} \sum_{j=1}^n z_j^2} \\ &= q^{-\frac{1}{2n} (\sum_{j=1}^n z_j)^2 + \frac{1}{2} \sum_{j=1}^n z_j^2} \prod_{j=1}^n \left(\widehat{\prod}_{m=0}^{\infty} [n+z_j]_q \right). \end{aligned}$$

3 Double Hurwitz zeta

For $\beta > \alpha > 0$, let $H_{\alpha,\beta}(s_1, s_2)$ be Dirichlet series defined by

$$H_{\alpha,\beta}(s_1, s_2) = \sum_{n=0}^{\infty} (n + \alpha)^{-s_1} (n + \beta)^{-s_2}.$$

This series converges absolutely for $\Re(s_1 + s_2) > 1$.

$H_{\alpha,\beta}(s_1, s_2)$ is an important object in the theory of the zeta-regularized product. For example, as we presented in Section 1, we know generalized Lerch's formula

$$\exp\left(-\frac{\partial}{\partial s} H_{\alpha,\beta}(s, s)\Big|_{s=0}\right) = \frac{2\pi}{\Gamma(\alpha)\Gamma(\beta)}.$$

We know also that the spectral zeta function $Z_n(s)$ of the unit n -sphere S^{n-1} can be written in terms of $H_{\alpha,\beta}(s_1, s_2)$ as

$$Z_n(s) = \sum_{d=0}^{n-1} T_{n,d} H_{1,n}(s-d, s), \quad (5)$$

where

$$T_{n,d} = \frac{1}{n!} \sum_{r=d+1}^n s(n, r) \binom{r}{d} (n^{r-d} - (n-2)^{r-d}),$$

$s(r, d)$ denoting the Stirling numbers of the first kind. See Lemma 2 of [4] p.202. We get the formula for the functional determinant of the Laplacian by evaluating $\frac{\partial}{\partial s} Z_n(s)\Big|_{s=0}$. See Theorem 1 of [4] p. 200.

In the results mentioned above, the main target is not $H_{\alpha,\beta}(s_1, s_2)$ itself but evaluating derivative of $H_{\alpha,\beta}(s_1, s_2)$. In this section, we analyze $H_{\alpha,\beta}(s_1, s_2)$ itself. First by applying the method described in [2], we can get the following expression for $H_{\alpha,\beta}(s_1, s_2)$.

$$H_{\alpha,\beta}(s_1, s_2) = \frac{\Gamma(s_1 + s_2)}{\Gamma(s_1)\Gamma(s_2)} \int_0^1 u^{s_2-1} (1-u)^{s_1-1} \zeta(s_1 + s_2, \alpha - (\alpha - \beta)u) du, \quad (6)$$

where $\zeta(s, x) = \sum_{n=0}^{\infty} (n+x)^{-s}$ is Hurwitz zeta function. It is very interesting to note that S. Ramanujan already treated the integral of the right hand side on (6) apart from Dirichlet series $H_{\alpha,\beta}(s_1, s_2)$. See (14) of [9] p.166.

Starting from the integral expression (6), we show the following results.

Theorem 5 $H_{\alpha,\beta}(s_1, s_2)$ can be continued meromorphically to all $s_1, s_2 \in \mathbf{C}$.

Theorem 6 For $\Re(s_1) < 0, \Re(s_2) < 0, 0 < \alpha < \beta < 1$, we have

$$H_{\alpha,\beta}(s_1, s_2) = \frac{\Gamma(1-s_1-s_2)}{(2\pi)^{1-s_1-s_2}} \times \left\{ e^{\frac{\pi i}{2}(1-s_1-s_2)} \sum_{n=1}^{\infty} n^{s_1+s_2-1} e^{-2\pi i n \beta} {}_1F_1(s_1, s_1+s_2, 2\pi i n(\beta-\alpha)) \right. \\ \left. + e^{-\frac{\pi i}{2}(1-s_1-s_2)} \sum_{n=1}^{\infty} n^{s_1+s_2-1} e^{2\pi i n \alpha} {}_1F_1(s_2, s_1+s_2, 2\pi i n(\beta-\alpha)) \right\}. \quad (7)$$

Here ${}_1F_1(a, b, z)$ is the confluent hypergeometric series defined by

$${}_1F_1(a, b, z) = \sum_{n=0}^{\infty} \frac{(a)_n z^n}{(b)_n n!} \quad (8)$$

with $(x)_n = \frac{\Gamma(x+n)}{\Gamma(x)}$.

This is a generalization of well known Hurwitz relation for $\zeta(s, x)$.

Theorem 7 We have

$$H_{\alpha,\beta}(s_1, s_2) = \sum_{n=0}^{\infty} \frac{(s_2)_n}{n!} \zeta(s_1+s_2+n, \alpha) (\alpha-\beta)^n.$$

This is a special case of Main Theorem of [3]. However we can prove Main Theorem of [3] by quite different manner using the confluent hypergeometric series ${}_1F_1(a, b, z)$.

Next we give the evaluation formula of $H_{\alpha,\beta}(s_1, s_2)$. We can evaluate the values of $H_{\alpha,\beta}(s_1, s_2)$ at any integers s_1, s_2 in terms of the values of Hurwitz zeta function.

Theorem 8 For $p, q \in \mathbf{N}$, we have

$$H_{\alpha,\beta}(q, p) = \frac{\Gamma(p+q)}{(p+q-1)\Gamma(p)\Gamma(q)} \times \left\{ \sum_{n=0}^{p+q-3} \left\{ \sum_{m=\max\{n-p+1, 0\}}^{q-1} (-1)^m \binom{q-1}{m} \binom{p+m-1}{n} \right\} \right\}$$

$$\begin{aligned}
& \times \frac{n!}{(2-p-q)_n} \zeta(p+q-n-1, \beta) (\alpha - \beta)^{-n-1} \\
& - \sum_{m=0}^{q-2} (-1)^m \binom{q-1}{m} \frac{(p+m-1)!}{(2-p-q)_{p+m-1}} \zeta(q-m, \alpha) (\alpha - \beta)^{-p-m} \\
& + (-1)^{q-1} \frac{(p+q-2)!}{(2-p-q)_{p+q-2}} (\alpha - \beta)^{-p-q+1} \left(\frac{\Gamma'}{\Gamma}(\beta) - \frac{\Gamma'}{\Gamma}(\alpha) \right).
\end{aligned}$$

Here empty sum is considered as zero.

Theorem 9 For $p, q \in \mathbf{Z}$ which are not both negative, we have

$$\begin{aligned}
H_{\alpha, \beta}(-p, -q) &= \sum_{k=0}^q \binom{q}{k} (\beta - \alpha)^k \zeta(-p - q + k, \alpha) \\
&+ \sum_{k=0}^p \binom{p}{k} (\alpha - \beta)^k \zeta(-p - q + k, \beta).
\end{aligned}$$

Here empty sum is considered as zero.

Finally we mention that we can provide another approach to evaluate the determinant $\det \Delta_n$ of the Laplacian on the n -sphere S^{n-1} starting from the integral expression (6). Here $\det \Delta_n$ is defined by

$$\det \Delta_n = \exp \left(- \sum_{d=0}^{n-1} T_{n,d} \frac{\partial}{\partial s} H_{1,n}(s-d, s) \Big|_{s=0} \right).$$

See (5) for the definition of $T_{n,d}$.

Theorem 10

$$\begin{aligned}
\frac{\partial}{\partial s} H_{1,n+1}(s-d, s) \Big|_{s=0} &= \zeta'(-d) + \sum_{l=0}^d (-n)^{d-l} \binom{d}{l} \zeta'(-l, n+1) \\
&- \frac{(-n)^{d+1}}{2(d+1)} \left(\sum_{j=1}^d \frac{1}{j} \right).
\end{aligned}$$

This is simpler than Kumagai's formula given in Lemma 3 of [4] p.202. Comparing Theorem 10 and Kumagai's result, we get the following identity for harmonic numbers.

Corollary 5 *The following identity holds:*

$$2^{1-d} \sum_{l=1, \text{odd}}^d \binom{d+1}{l+1} \sum_{j=1, \text{odd}}^l \frac{1}{j} = \sum_{j=1}^d \frac{1}{j}.$$

References

- [1] E. W. Barnes, On the theory of the multiple gamma functions, *Trans. Cambridge Philos. Soc.* **19** (1904), 374-425.
- [2] S. Egami, A note on the Kronecker limit formula for real quadratic fields. *Mathematika* **33** (1986), no. 2, 239-243 (1987).
- [3] S. Kanemitsu, H. Kumagai, M. Yoshimoto Sums involving the Hurwitz zeta function. *Ramanujan J.* **5** (2001), no. 1, 5-19.
- [4] H. Kumagai, The determinant of the Laplacian on the n -sphere. *Acta Arith.* **91** (1999), no. 3, 199-208.
- [5] N. Kurokawa, M. Wakayama, A generalization of Lerch's formula, *Czechoslovak Mathematical Journal*, Vol. 54, No. 4, pp. 941-947, (2004).
- [6] N. Kurokawa, M. Wakayama, Generalized zeta regularizations, quantum class number formulas, and Appell's O -functions, to appear in *The Ramanujan J.*
- [7] D. Moak, The q -gamma function for $q > 1$. *Aequationes Math.* **20** (1980), no. 2-3, 278-285.
- [8] J. R. Quine, J. Choi, Zeta regularized products and functional determinants on spheres. *Rocky Mountain J. Math.* **26** (1996), no. 2, 719-729.
- [9] S. Ramanujan, A series for Euler's constant γ , in *Collected papers*; reprinted with additional commentary by American Mathematical Society, Providence, RI, 2000.

- [10] T.Shintani, On evaluation of zeta functions of totally real algebraic number fields at non-positive integers. J. Fac. Sci. Univ. Tokyo Sect. IA Math. **23** (1976), no. 2, 393-417.
- [11] T.Shintani, On values at $s = 1$ of certain L functions of totally real algebraic number fields. Algebraic number theory (Kyoto Internat. Sympos., Res. Inst. Math. Sci., Univ. Kyoto, Kyoto, 1976), Japan Soc. Promotion Sci., Tokyo, (1977), 201-212.
- [12] T.Shintani, A proof of the classical Kronecker limit formula. Tokyo J. Math. **3** (1980), no. 2, 191-199.